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PART I QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

1. ‘Which of the following is equivalent to '-/ (/ é X =+ 7)

2. Which of the following is the value of the expression when x= < ?

3. If the expression ol +3x is equal to 42 for some value of x. Does x = 32

4. T binomial _”7."' Z¥ equ;ua,leni— 2% =T ¢

1

5. Fil sa He  blank 3K+'x+__,:q><

_ 5.;31“



6 e sam of G-X ond -l i - . [A

R

¥

7
7. Which of the following equations illustrates the- Jq‘s*r)wdepropeﬁy am) commu,‘h‘“de P“’Q’e(jj .

-.-—Z(x):vz.x 2 &% = X -2

8. Which of the followingis: 3 ( —6X )

9. The expression .Q(X) + 9% 3 is equivalent to each of the following .

10, When written in simplest form the expression 4 (/ —lox + 7) -+ 3( - X)

~ 38 -
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PART IT QUESTIONS: Answer all questions in this part. Make sure you show all of your work.

(1. Find the SuM of =2%  with X - in simplest form.

ession. —H(N - 5)
12. If n represents a number, Simp\if‘) e ey {Y,(e,ssfoﬂ o (

BN

13. Which of the following is equivalent to the expression

whenx = —
i

PART IIT QUESTIONS: Answer all questions in this part. Make sure you show afl of your work.

14. Which of the following properties justifies the equivalence: Define. ‘fﬁe, answeR .

3+n=n+3 and  G(x)=bx

¢

15. 4y -I= -5 for some value of x, is it true when x =

-3 ? Shows s¢ bstuflon,
-3

A Y

Hon IS

N, Aoe'i _ eq us

7

be A T e
o L’;A"' NO”L_,_./——-—



16. Of the following, which are equivalent?

= Ton=pn-T oé’ 3(x+q) = 3x +1Z

17. (ombine e fRms e The expression ~3% - Sy + ]

PART IV QUESTION: Answer the question in this part . Show 30&( Lol K,

- 18. What is following step to simplify the expression?

.%xpression i"L G-B(l{ ¥ - l) + 1 (SX - 2.)

Step #1 -12¥ + 3 + 33)&‘"'4

19, Simplify the problem above.
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PART I QUESTIONS: Answer all questions in this part by writing the choice of the appropriate answer in the
blank beside the problem. Please show all of your work.

1. Which of the following values of x is a solution to the equafion "I( X~ 3 > * 8 = é 8

2. Sbl\}ve 4’&.& fwo Step e7uq{t"?'ﬂ ‘:f'f" +5 = =7

3. w:‘i‘k’,l ygs/ﬂo-"{& %ideqm,‘]“'?'fb LULIQVI Y= “’Z 0 |

Yo er x>

4. T o times the sum of a number, n, aﬁd Y. is at fost S0 Which of the following inequalities properly

models this statement? ({jpile Hais  Statermen +, \
. £ eans

7 means

‘ Z
- means _ _ —————

”_'{ 7A — = meansS — ——



. @ Unit 2 svu:lj Guide

5. Max correctly starts solving the linear equation 3 (X +7) = —(? “writing Y 7 =~ 3 Which of the following

properties justifies what Max wrote?

S | ~ ox¢1=73

6. Which of the following graphs shows the solution set to 3 X - 7 >3

G;rwf) h *FR& .Se,o.HOf)

open ¢ e le
oR

Closed cicele

& f ; ——t —
3 4 5 ( 1% why 7
Ct‘r(ifé . 3fca+e( ‘fﬁwm oa Lless Hren

7. The value ¥=8 is a solution to each of the following, except which?

X“”>3>§ R Z(x+3):4x-:—-/0

4
_ 8. Plato was saving [0 each week in order to have cnough money for a phone that costs #/50, 1f his father
started him off with¥ 30 Wwhich of the following is the minimum number of whole weeks Plato will need to

save? Wik an equa;H@n and  solue.
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. PARTII QUESTIONS: Answer all questions in this part. Please show all of your work. A / 9e bm_

9 The r’JQf'tmekf 1s given by the formula P ljfx M SO ,UQ'& pod in terms of P ,

10. When a number, X is increased by ) and then the result is mu )hph'u}ba A is equal to /8
Wiite an equation and solve it to find the value of . x,

11. Justify your response, is the value X= -4 a solution to the inequality Sx -3 > (o %

12. Solve the following equation for x. Show the manipulations that lead to your final answer.

7()(-%21) — 3% +4 = (x—-S>-+(X~3)

- BA-



o Uit 2 ShyGuck

13, Algebraically solve the inequality 5){ ~14¢ _é_ - 9 ( 3 x -+ Q)

X

14, Graph the inequality from #13 on the number line.

15. Give a propesty of real numbers or a property of equality to justify each step in the solution of the equation
shown below. ‘

Hx -8+ Ax+l=37

Step 1
.[r/)_g+$2X~8+l ="37
- Step2
bx - 7= ~37
 Step3 :
L ‘ é)f = =30
Step 4
X==5

16. Solve the following multistep equation, - 3 Y - "'I = o~ el
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PART I QUESTIONS: Answer all questions in this part. Show all of your work

1 If 30() x4 an then which of the following is the value of. 3(-6)0.m‘ -{:( 75)?
‘j()-:SC)?_\C()X q
f()=0) -4

2. If a function is defined by the foxmu‘m%() 1 %= ol and its domain is given by the seté_ B} -4 0.4 g
whch of the following scts gives the function's range?

—

: X 1 £(x)-
e Subshitute ___i ) Substitule oA usc
- E -3 | S he cqlcalator
— ) m— y T ' ~Y
rA’ﬂ(jﬁ ESJ ogpa)_ ___?__

L‘
3. The distance, d, that a car has traveled, as a function of time, ¢, is given in the table below. What is the average
- rate of change of the distance over the interval H<r<i0 <«— use fhege flambers

—_— T
(P | d(miles)| o0

= o Jefermine. e

(19 ] 150137 | 332LYHEB L Jistance fnd e
(X) t (hours) 0 ol H & g ro Number of hours .

- duﬁﬂ] HAe 3203“

’é | J S K \’/ jndeduat .

‘ TFI——ISO bru.Jc_ MIQJ.{O (9@_,_ mPE'\ |

houss —t—> piles hours T ples FQ, howt

—— Hour. o - ‘ g

4, For the function h(X) shown graphed below, over which of the followmg intervals is }](X) =0
h(x)=jx-1{-2

3

B(&)

4 —é X
M=o,

i I AN
| _‘_MA,

<




3A

3 x| X4S . 7
5 For the functlon deﬁned by f ( E 2y-) x2S which of the following represents the value of f ((,) |
x-1 x>

)= 30)-

6. For function g(x) graphed below, over which of the following intervals is g (x)1a c(eas?rg_
y i
( ) ERmEErN] from Left o Pyt
) :
and T X | e jm(f)h shos
) . ‘ 9o .

mn

7. Given the graph of the function f{x) shown below, which of the following intervals represents its o’om Ay

Ao‘(f‘“\“ hh'h_ d = 0,@;&(\?. 6’0\'?\4;(\ B
. \ 4 X‘ . : B
Lett R{?M’ : - wha i is He J:ﬁ&rer:;e be;weJen
(""‘)13 (_;0 3) a::r jien? cixde and a. Close

8. A function is initially defined by the set of coordinate paits { (-2,¢),(-5),(3, —B)E_Which coordinate pair

below, if added to this set, prevents the set from representing a function?

(i ) -—-—) aLJJ His | Explain why? s 0 e&:ea:'ru]
x Bl ’b“'\[‘\iwcalt‘w\'I 1t has i"epeeﬁin& — Valaes,

Xarz

+o cyente o non-ﬁmﬂm

9. Ifthe function A{x) is defined by h(x)=3x then which of the following values of X sfves the

equation h( ‘“la‘)? }(_ }.: 3( ) : Supstitufion ?m\o[em

0
N

e

~
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PaRT X1 QUESTIONS: Answer all questions in this part. Show all of your work.

/f/j@b(cu

7.0, The function f (x) is shown on the graph. What point does f(*'[) represent? Put this point on the graph.
y
- >
— ) —_—
11. What point(s) does the value of f(x) = ~} represent? Graph the point(s). *
U .A..._l) . ( : 1 \
_ ( —_— — O.r\c) —y |

12-13. Do the following graphs represents functions? Explain how you arrived at your choice.
hd Y4
F

(— — ___‘;.\: é__...;_»—— A~ -

v ,

4@0 o t\onf _-'ch:\lm /d‘

ra) o LuncHon

{ ""'.
Explain; }( Udg,‘ulQ, rQ_‘pQ_Q}S o EXplainZ - -~ X (J&_)L&Q OJQQS(S ‘LrQ_@QCk

PART ITT QUESTIONS: Answer all questions in this part. Show all of your work,

14. Two functions, and g (x) , are given below. Determine which of these functions has the greater average
rate of change over the interval | € X &€ 3

¥ change 7 N’
o e o ) /\ o [1[a]s]4][s]6
. 41

X
Sub'f“".‘:)r"ﬂeh gx) o} a|lyq| 8/ 34|68

L A
.;6‘0;3'24 ‘1\065 Cheange ?

WOW" : X j()()

S | 3u

e esnper




)2 SMJJ Qw‘Je 36

15. Graph the piecewise function shown below on the
axes provided. Which point below is on the graph?

f(x):fg)“gg L&‘fu)e_eﬂ "'"f €EX =2

¥

*® _ﬂ D)

JPSE——

Sy . X
. '
-2 -
16. What is the value of f (-3 Yfor this 'GAY}C'HOI’? 7 ]
Circle this point on your graph. o

UJm‘cL [P«‘t\-\- is on e )(:-?) Line ?

(— —)

PART IV QUESTION: Answer the question in this part. Show all of your work.

17. For the function f (x) shown graphed below answer the following questions.

State the doww%w mnje . 14
| _ maffy
4X & - \ £ f(x) & — o
— — «
' how ¥ how ;ﬂe
oo dowsin e, ",_:;’ , fFanmys g ©
et 7 | right —~ x
18. What values of x solve the equation f(x)= =1 & @’J ¢ B
Circle points on your graph that justify your solution. v .
Tf\e,v\g 08 e 3 :'Xan.\u,tS' on 'FCX): "I A/ l
e y ¢
19. Give the intervals over which f(x) is Jtu‘f.nsha. ;and, /
circle the &dfeasi ?j sections on the graph.
decreastn a
Ly L joler ua
Lt gk fon Lebh o G
: (Botom oHRNY) 1 bl ooing o @
(rop o HeRN) it is going

-12.B-
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TIdame:

ovrseStady Gude Study HA

Covmon CORE ALGLEBRA 1

j:PART 1 QUESTIONS: Show all of your work.

1. Which of the following is the slope of the line that passes through the points ( - Li )" é) o.nd( | ) q>

9 e gy . L]

D

.

< > e L

2. Which equation could correspond to the graph of the linear function shown below?

M = . & ‘prw'an_

3. A wheel with a SPw\tlc Qem@rene i move SYOinches when rolled Q0 times. How far will the same
wheel move, to the nearest inch, in ¢ folls?

= MX X -_.(_j_— “X\cs afkr G rolls |
§=(nC D> 9 SE f’ -
' IStane e
4= Zo | SHo per rol)

4. A line with a slope of -3 passes through the point (‘J, ~$) . Which of the following is the equation of the line?

M= — y=mMx +R
. j:c DX + 8

Ej—:.

-ISA -
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5. A rental car company charges a base fee of Q S plus aA9¢ per mile driven, Which of the following
: equations models the charge.;j for renting a car based on the number of miles, X , driven?

L b PN {
Which of the following is the equation of the grapH{éHcTWff 2 - Hi’"_*jfw
M A i*"“)l'”:“’_—“’ ) _._im_ 4__ WLM{_H

|~ : B I
Charles is making a recipe that calls for 5 _quarts of milk, Unfortunately, Charles only has a single cup
measuring device. If there are two cupsin a

ﬂﬁt and two pints in a quart, then how many cups will Charles
need for & quarts of milk? 1f8=0, Soleg )

X/j:M’”'g @

; :
"-v':“'h—r-»-_._m.._._

L5
y=C M )+0 ot

Lok
l JF

| guact — M- —cups
Which of the following equations describes all pointsona Ver ticed tine that passes through the point (~ 4; 8)

o R 0(\!3 ‘{Omd\eﬁ X
\J@f'HLo./\ Line .X =

lr‘\oﬁ ’-81‘\"13.\ L‘I ne :j =

A sequence is defined by the rule. If f{x) = Ux+2 If £ ()= (> then what does £ ( 7=
£)=HG)+ =
f()= H+2Z

£y = 6

|
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,10 If graphed in the coordinate plane, would the line y = 3 ¥ +L pass through the po'mt(é- 5,.* ?)Explain how you
arrived at your answer. ({se Sylofiufion,

j?es , __Eci Cause the. Last

efzuc'ul?on (s -

-

‘ d
11. An arithmetic sequence has a B termofbanda /Vl term of 9 What is its 3 R4 term? Show how you

arrived at your answer.
B _ . M - X ‘ 'F(X)
| 9)

, B D .
()= ' )
':"' R
2 1
=1
3 ) t—
12. As a large truck fills its gas tank, the volume of gas, in gallons, can be modeled with the linear function

=7 1x+ 5 ,whereyisthe volume of gas and X is the number of minutes it has been filling. Give a physical
interpretation for bo

the 7.} and § parameters in the linear model. Use appropriate units in your
explanation,

7.1 (s j“ﬁe.

",

PART IIT QUESTIONS: Show all of your work

which s 3A”ons“ per minuwte be:'njfﬂa
S is :MQ e u)h/‘ol\- s The g‘llﬂf*’—h;\j

13. Write the equation of the line that passes through the points (53 B} and 63 ' ;B)Express your answer in simplest
y=mx+b form. '

X‘H - M= Meﬂ_____
/ Xofmv?-

4________ . j:/\/\x,+8
e )T 3T ysOO B

I

A




Maebra Unit 48

/ 3€,1f y {Jj f\(—Se/‘P

14, Graph the line':j -Yx = -3on the axes provided.

My +Yx X 5

j =

By ter
» -

15. Use the graph from #14. At what value of y does the line hav
when x = Q. Show how you determined your answer.

/ - Yy = -3
,5&"5“%% 5_“[1( ) 3 A B
\ 2

16. A company produces boxes of DVD's at a rate of $0boxes per hour. They begin to produce boxes when they
first open for the day and after 4 hours have §73boxes in stock. How many boxes were in stock when
they opened?

y= mirg N, M= B0
Y=(Oxr et

C)=(X>"’B j:80x+

17. Use the same company from problem #16. Write a linear model for the amount of boxes, Y as a function of
the number of hours since they opened, X Use your model to predict the number of boxes in stock at the end
of § hours of work. X

boxes will be

———————

ok Ha comprny at
Ho end of -{-Q;_:eran

- I6B -
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COMMON CORE ALGEBRA I: UNIT #5 S)MJJ G“ ; gﬂ'e_ S—}f,{ijj | SA

PARTI QUESTIONS: Show all of your work.

1. Which of the following is the X-coordinate of the solution to the system shown below?
" S o X = 18
H x =12

-
x_, S

2. Theline y= 3) X #3 Is graphed. Graph the other line y = -x + b Which of the following would be the

y-coordinate of the solution when both lines are graphed? Y

. (s & x
j o 7 >
&, 4
N

I RS v

3. Which of the following equations would have a solution that is the same as the solution to the system?

Subsitte
SOIZL"O” qx@m

(——-—-) ) LI()+7.1..33 v

(%, 2() o

Circle! _
e5 / ~NO
4, Is(y ) 34)3. solution to the system of equations? y = dx -1 y= - 3y 420




5. The
% The

Wee AR solution .
—é -3 )
/ fue

ua,l*u‘- j Vo

|

" functions f(x)= X +3 and g(x) = % X- ” are shown.
+solution to f'(x) = g(x) is which of the following.

uﬂH' SA . §ufc)g

4

6. Which of the following points is a solution to the system of inequalities sho)yvn graphed below?

Weite a  solufion

< 3x-2
}j QX (b-—-)""”>

T's ‘/‘4!5 Qn‘[" n
He Aol shaded <

j £-3x+8

I(p

®

1

7. Which of the following is the value of y that solves the system of equations shown below?

8. At what point do the lines y = - S

X 1Y

DX +éj

iy

Sx +6(2x)= S\

y::?)(

mnd y = ~od¥ ._|-3 intersect? Show Mr, V the calculator.

X, 9

T
Z

31
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PART Xl QUESTIONS: Show all of your work.

\}9. Find the value of x that solves the system shown below. Show the work that leads to your answer

Y:SX and a?x-f-j = -
2){4-3)("-'— “30

. - . ,.__’———‘_'9
10. Graph the system of equations. y = _:_;_l X+ l and y =5x - (0 ’ X A
[>T LIk [RERES Ruunnnun il I
o 2
Frackions. U .
11. What is the solution to #10? q . _ 6
X S
i mkﬁw“m ( } ) ﬁ(,q‘\ : ' ko)
0.
Do 5
uneb *«‘"‘\

PART ITI QUESTIONS: Show all of your work.

12. Salve the following system of equations algebraically. for FHe So lution

9) = 20




{/{NYL SB Sggl/é'

13. Sketch the graph to the system of inequalities shown below. Explain how to shade.

- n.y
y» qx y<2 x +C> ’ v
o(:HeJ
S'Dh 5‘ ! {l}
Slwle&bme 2 SAkJe Ane 3 '8
! x
S}\qJe, fx.l:m Sﬁ.qc)e_l;e’ao ¢ Circle ? ¢ >
14. Graph the pomt S | Is it a solution to the system? j \ :
OR 1N 9
Ts it -in Hhe o "
sitieh No
L

Aoble shaokd 7

sie Drama Club is selling tickets to an upcoming play. They can selliSootickets. The adult

15. The Poughkee
g [D ‘each and student tickets cost {ree They would like to raise § 3000 If x represents the

tickets sell for _
number of adult tickets and y represents the number of student tickets, answer the following,

Write a system of equations that models this situation.

-—

—— S——my ]
. pT——rie

b=
nwgpber | nurg&bev nwgkii(!f . g%s,,t ”‘;’2‘1“"’" Eﬁ:ﬁ[ m:?be’ Cost of
adult Swdnd  hekets (it Al bkt Shakod ALl
. * fiket  HoKels hiket fopels  HokeTS

Fckets Jickets
16. A party is thrown where 0 tables are used. Each table either sits 8 people or®people. A total of J70 people
can be sat at the tables. Iff represent the number of | § person tables and'T represents the number oft /0

person tables, write a system of equations that models this situation.

. + = __+ =
Nbor o€ glaber of  Blal b W oMb O Tobad seuts
TZH‘""’ Tabfes one. P70 pec  persen Tom

c‘)j;,,_ Tables one Tabes
pecson k';oﬂ
L

[ ale Jable

— 708 -




